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AQA AS Business Studies

5 Finance

a Budgeted profit = £398,000 – £377,960 = £20,040 (1 mark)

Actual profit = £341,500 – £372,205 (1 mark) = (£30,705) (1 mark)

Variance = £20,040 – (£30,705) (1 mark) = £50,745 (1 mark) adverse (1 mark)

b Answers may include the following:

· This is a market with new firms entering it who may capture market share from Pira Ltd.

· The company reduced its prices by 10%. If sales did not respond sufficiently, then the company’s revenue would fall. Demand should be price elastic for this tactic to work.

· The percentage of returns has increased from 1% to 3.5% in one year – this will reduce revenue directly and the decline in quality may lead to a further loss of sales.

	Level 5
	Good analysis and good application
	8–9 marks

	Level 4
	Good analysis or good application and reasonable application or reasonable analysis
	6–7 marks

	Level 3
	Good analysis or application or reasonable application and reasonable analysis
	5 marks

	Level 2
	Good knowledge plus reasonable application or reasonable analysis
	3-4 marks

	Level 1
	Answer contains relevant knowledge – basic points and/or evidence of understanding of relevant term(s)
	1–2 marks


c Answers may include the following:

· Yes, this may help as the company currently charges about 5% more than its competitors and this price cut will make it about 5% cheaper.

· Yes, the company has slashed its marketing budget and a substantial price cut may help to offset this and attract more customers.

· The company has a reputation for quality products and this may not fit with a low price model.

· No, the company’s profits have ‘declined alarmingly’ recently and this might make the financial situation worse.

	Level 5
	Good analysis and good application
	9–10 marks

	Level 4
	Good analysis or good application and reasonable application or reasonable analysis
	7–8 marks

	Level 3
	Good analysis or application or reasonable application and reasonable analysis
	5–6 marks

	Level 2
	Good knowledge plus reasonable application or reasonable analysis
	3-4 marks

	Level 1
	Answer contains relevant knowledge – basic points and/or evidence of understanding of relevant term(s)
	1–2 marks


Evaluation: this may centre on the likely effects of the price cut on sales – this may work if demand is price elastic. Another possible line of evaluation may relate to the possible reactions of competitors.

	E3
	Judgement with well supported justification. Answer has a logical structure throughout, with effective use of technical terms.
	4–5 marks

	E2
	Judgement with limited attempt at justification. Evidence of a logical structure and some use of technical terms. 
	2–3 marks

	E1
	Assertion or judgement which is unsupported. Reasonable evidence of a logical structure and little use of technical terms. 
	1 mark
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